
Chapter 4: Particle Kinetics Homework

Homework H.4.H

Given: A rocket sled of mass m is initially moving up an incline under the action of a thrust
force FT with a speed of v1. The frictional resistance on the sled as it moves up the incline can be
modeled as sliding friction with a coe�cient of kinetic friction of µk. It is assumed that the rocket
sled is under-powered; that is, it has a negative rate of change of speed as it moves up the incline.
Assume that the mass of the sled does not decrease significantly as it moves up the incline.

Find: Determine the maximum distance that the sled can move up the incline before coming to
rest.
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